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The Zomemay witnesses of a Kohen’s daughter and her adulterer;
that they do not proceed to that death, but to another death

OVERVIEW

The 710 writes' regarding the daughter of a 373 who was m1m (while she was
married) that her punishment is 79°7w. The 71wn in 177710 (cited here in our X7713)
states that the man who was 1111 with the 775 N2 does not receive 719°W; the same
applies to the 0°7v who testified that she was 7711, and were onn, that these 7V
Tnn1r (even though they intended for the 175 N2 to receive 79°7Ww, nevertheless they)
do not receive 75 but another 7in°n.> Our Moo discusses the various Mwa7 from
where we derive these rulings.

- n5uya 89 NN 19971 NYA
Her adulterer does not receive 19 (as the 175 N2 does) for we expound the

word 8477 as exclusive; she receives 719>, but not her adulterer —
- "YMNRY X9 PAXY *)0W917 *PANY 25097 175 N 3O

And we derive that the 372 na "1t do not receive 19w for it is written, ‘to his
brother’, and we expound it to mean that you should do to the 7n21r 27V as they
plotted to do to his brother, but not to his sister.

nvoIn asks:
=19 NPOYt SNonn Y 1995 IMNNRY XD 1PANDT XYY 2D N1IY 9980 ON)

And if you will say; why do we need the aforementioned exposition of X% 11K
MR to teach us that the 375 N2 »»mir do not receive 19°7W, let us derive it from

1,8 (MMR) RPN reads AIWN WRI NP R0 IR DR MY 90N %3 37 WK DA
2 If the 72 N2 was an 701X, the P¥12 and the 1 029 receive 77°po, and if she was a X1 they all receive pan
(depending on the various muw when the ruling of 19°7w2 1715 N2 applies).
? See footnote # 1.
* See footnote # 2.
3,0 (DVDW) 0127 reads PARD MWYY DT WRI 12 AW,
® The n"37 M7 amends this to read 11w T (instead of 11°w977)
" When the am1r 07y testified that the 1715 N2 was 111 they plotted to be N1 2% both the 375 N2 (which is 79w2)
and her y12 (which is 72°po\pana [see footnote # 2]); what n should we give the 1" 0>7v; this which they
intended for her, or what they intended for him? The P05 of 1PrX? MWy ont "wWRD teaches that we punish the 7y
an with they nnon they plotted for him - 1nX? (which is 72°p0\Pan), but not with the n°» they plotted for her -
AMINR? (which is 79W).
% See footnote # 1.
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the word X7, for we do derive the exclusion of 175 N2 »»»11 from 79w, from X7 -
- NPT NI NOD 1Y KDY TNOA NHYINM NOD NYANR DN (4 prrmo) 19OWATT

As we expound the 705 of 77Wwn WRa nPhrn K97 7928 DX, to teach us that only she
receives 72" but not 779125 and similarly only she receives n19°7w, but not her
130T 077V, so why do we need the w7 of 1MIARY X7 1PnRkY, when we derive it from Xo7.

Mo0IN answers:
= 7123 NIN NONT RVIYN MIPIND N2> XD NIV NANY IND NN DINID 91997 W

And one can say; since 779221 came to obligate her 1939w, it is not becoming to
establish the exclusion of '8°77', only for 7512, but not for mnmr -
- (RN Y NOR) Pt 195095 XY
And we do not exclude ;%% from X7 (but rather we exclude 7°n217 from 1R
IMAR? X?Y); that is how we would understand it initially -
— 195297 Y0IYNY NI M) 11PWAT NN 29097 1999 Yax
However, once the 70 writes (\WNIX? X91) 1¥aR%, which excludes it from

1970; we can also expound X7 to exclude ;192237 (in cases where the exclusion 11IR?
MR X721 will not apply, as mooIn will shortly explain).

mooin asks (the obvious question):

- NY PRNIT SVIVAY TPIVIN INNBN NN 29NIT 1 HUP Yan
However, there is a difficulty; since (\ninx> X?1) 1°n8® is already written (from
which we exclude 72117 from 79°7%) why is it necessary for the X723 in 177710 to
exclude 73137 (from 7719°7W) from 'N°7'?!

Mo0IN answers:
= PAND 1152 192997 113 NN IIANWI 295 3NT RN NN PANRN INT 99D U

And one can say; for if there was only the exclusion of (\mnX? X71) 1IRY we
could have said that when is this exclusion effective only when the %12 was also
being judged, then we can read into the ?109; punish the 0°7¥ as they intended to

punish 1ARY (the Y¥12), but not how they intended to punish 1M (the 3715 n2) -
= IIYTY 29 By 113 7PN NY BN YaN

However if the 7312 was not being judged by their testimony, meaning -

? The word X1 is exclusionary to teach us that only the 175 na receives 719*1w; however anyone else who receives
7n°n on account of the 1775 N2 (whether it is 77312 or 7o), they do not receive 79 W, but rather a nNR 707,
19 We would not (initially) be able to exclude 71 from 7197 based on 'R, since there is a direct command
ot WK 2 anwy, which would seemingly override the exclusion of X7 (especially since we can apply it to 72312).
"' The n"27 N3 amends this to read Yix> (instead of 1nX).
2 See footnote # 11. The same applies to the following ¥k and 1rixn that they read 1rix? and 1nx%» respectively.
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- Bynny 793 19999 XY 59930 19590 XYW I PINR 01 0% 70 13 105 1YY S
For instance that he was a minor, nine years and one day or older, or in a case
where the witnesses did not recognize the %¥12, we would not read the exclusion

of (AMNXY R21) 1KY regarding these witnesses; this is what we would have thought if the only
exclusion was WNIIRY K71 1R, therefore the 7N -
- Y1533 593 117 2039y ¥)mt 8 XOD 19 YW NP

teaches us by writing X7 but not 3223 to exclude 722 in any event even if
there is no other 1n» 211 (for the H12).

Md0IN comments:
= (X, 97P170) TN 990 P91 HOVY IV ExnYon sxna 79101 PNYY 13939 NN NN

So initially the >'"% was doubtful regarding this matter, and afterwards he

resolved it from the X7 in 39777 9% P9D -
- 2155051 Ponminy 199 53 I8 0993 195 N2 19139 MDD SNY PYN NN AN CnRDT

Where the X773 states there is one capital offence which is similar to two capital
offences; for instance the 3772 na (which is 79>7w2) and 7®12 (which is pi72), or a

3 The 7% of a 79 who is a 71X 2 3w ywn 32 (and older) is consider a X2 in regards that the woman was 7111
(with him), however since he is still a Jup, there can be no 710> 211 for this 12 who is a Jup.
'* The o>7v testify that this 1712 n2 (whom they recognize) was 73t with another person whom they do not recognize,
and therefore are only condemning the 172 N2 to 07, but not the unknown 5y12.
' The exclusion of IMAXY X7 11X certainly does not mean that if the 07v testified that a woman is an» 21 (she
was naw 9onn) and were on, that we do not execute the it TWRD because she is a woman; we certainly do. The
exclusion of 1MnX? K71 XY is only in the specific case of a N1 1775 N2 where there are different n°n *2vrn for the
172 N2 (the 1MINR who receives 19 W) and the 912 (the 1R who receives pan), in this instance the 77N teaches that
the 1T 07 receive the 1inn of the 11X (which is pan), but not the 7n°» of the 1N INX (which is 757Ww). However in a
situation where there is no an 2vn (being dealt with) for the Y¥12 (as in the two aforementioned cases), then
seemingly we should punish the Pnnr 07y with 79w, since that is the (only) n°n they were plotting; there is no
other 10 . This is what we may have assumed if the only exclusion was from 1MnK? 821 vrix?. See ‘Thinking it over’
#1.
18 The n"27 N3 amends this to read 7> (instead of Prn).
' In this case as well the 07 would receive the in" that the 912 would have received (had he been found guilty —
PIm).
18 What the ruling should be in a case of 773 n2 1, where there is no nn°» 210 for the %¥13; do the 07y receive
19’ or not.
' The xma there concludes that we do not judge two capital offences in one day, even if it is for one capital offence
which is similar to two capital offences.
20 In this case there is one offence of mir committed, but there are two different punishments (we do not try them in
one day).
! In this case there are three sets of witnesses; set one testified that the 172 N2 was 731 (she receives 19w [he
receives pan]). Set two was 071 set one; so now the 375 N2 and 777312 are exonerated and set one 0°7Y receive pan. Set
three was 01 set two, thus exonerating set one which we now believe, so the TwX receives 19w [and 77312 receives
?ir], and set two receive pin (for they wanted to inflict 710 on set one. We have here different mnn; the nwx
m9Ww3, and 72912 with set two 2. However, there is a difficulty with this scenario as n1901n continues to point out.
2 The n"27 M3 amends this to read 7w (instead of 7m1) and the same applies for the following 17m1r.
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375 n2 and the 775731 9%, Moo asks -
= 19 I Y NNPY XYM

However, why are the ;752217 "2 necessary?!
- Boina N1AW 99920 0IUN 19998 M0 X9 MIINSN SNY KIINT 19 £19N

We know that there are two nns» without the %137 %217 because there is the

husband who receives 211 and the 373 N2 who receives 19°w; why add the @7 07 -
- w979 107 XINY PNAD N5IIAA AN PT XIYTT 11N $9INT NI YW NN

Rather we derive from here (since the X721 cites a second case) that we are
discussing a case where for instance there is no capital judgment being passed

on 7712 where for instance he is a minor, as I explained -
= PINA 120213 291997 39INRP 191 1IPIN)

And nevertheless (even though the 9312 does not receive pin), the X713 states that
the 5152117 %217 (set two) receives pant for plotting to kill set one with pir7 -

191922 D199 177 XYY 29 Y N P3N 1P01IT MINT NAYN
It is therefore evident that the 37> n2 samIt (set one) receive pian (if there is no
reprieve from set three) even though there is no capital punishment for the ¥12.

SUMMARY

The exclusion of YMARY &7 1PARY teaches us that the rule of onr “WKRD is not
applicable where there are two different mn°» (for him and her). The exclusion of
oM R X7 s applied that they do not receive 719w even when there is no 2vn
an°n for the Y¥12. [However, '®°77' alone could not override ant 2wKo.]

THINKING IT OVER

1. It seems from NN that were it not for '®°7', we would exclude 2°7v from 197w
only when they implicated the %312 for pan (and the woman for 79°7%); however if
they only implicated the woman for 797 (but not the 5¥12) they would receive
79 w.* It turns out that for a greater sin (to kill them both) we would exempt them

# In fact this is identical with the first case the X1 mentioned of 75¥12) 772 na!
** Therefore without the a1 s there are no two mn*»; only the 75w of the 175 na. If there are only two sets of
o7y, the initial set (set one) and the 1> 0*7Y, (set two) there is also only one 7in°», since set one was o the na
172 is exonerated and only set one is 7 2. However when there are three sets of 0’7y, the 375 N2 receives 79w
(for set one was exonerated [by set three] and is believed to be 211 the 719> 1715 N2), and set two who must receive
P10 (to make it two separate nin ). There is no n°n for the 2312 since he is a Jvp. The reason set two receives i is
because they plotted to inflict par on set one. This proves that even when there is no 1n 21n for the 12 the o7y
1an1r (set one) will receive pan if they are ani, therefore set two will also receive parm when they are ani by set three.
All this proves that 1211 079 receive pan even if there was no n°» 2vn for the H¥12 only a 79>9w 2vn for the 372 N2,
 See footnote # 15.
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from 797w, but for a lesser sin (to kill only the woman) they receive a greater
punishment!*°

2. Why is the case of nn1r "»mN 3725 N2 considered as NN N 7Y DAX 70NM?
Seemingly it is MmN °nw, since the sins of the 175 N2 and the M7 are two
completely separate sins. She was 711 and the 27y testified falsely; how is this
nnx a2t

3. What does the exclusion of 1MIKX? X7 1nXY accomplish, and what does the
exclusion of M X1 X°77 accomplish?

26 See TM9NT WD XX # 261.
27 See TIMoNT WM TN # 268-71.
5

TofosInEnglish.com



